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¢ sub.read_data T7'—~% (FHiis ¥ 7 ¥ — K 1/3—) ZFALD
c sub.cal_force_xyz DT
¢ sub.init_force THE ML, ANDT— 5 %37 — VHEIZEARRAATHEFET
e

program gqos2000
include ’common_qos2000’
call parameters
call read_datal
c call read_datal
xmin_cost=10000000.0d0
ixmin_ccst=0
do 1000 iii=1,iiimax
call cal_force_xyzh
call hokan_xyz
if(iii.le.3)then
costO=cost
vvcostO=vvcost
hO=cost+vvcost
endif
if(cost.1lt.xmin_cost)ixmin_cost=iii
if(cost.lt.xmin_cost)xmin_cost=cost
idiff=iii-ixmin_cost
if(5000.1t.idiff)write(6,*) *stop: 5000<idiff’
if(5000.1t.1idiff)stop
hh=cost+vvcost
write(6,9000)iii,idiff,cost,vvcost,hh,
&xmin_cost,cost/cost0,vvcost/vvcost0,hh/h0
9000 format(ih ,217,4f20.5,3£10.5)
call flush(6)
1000 enddo
stop
end
subroutine parameters
include ’common_gos2000’
1i1imax=200000
dt=0.00125d0
dtt=d20*dt
dt2=dt*dt
temp=1.Cd0
alpha=10.0d0
crit0=1.0d0-1.04-14
vrate=2(0.0d0
xlambda=1.0d40

Cm—m -
c iiimax: EATEE
c dt: EFFEA&G

¢ temp: sigmoid BN

¢ crit0: sigmoid B ® boundary

c alpha: boundary TORkInE Y %5k

¢ vrate: fIEITD cost LEEIANF DI
c xlambda: friction constat

c

return
end
CCCCCCCCCCCLCCCCCCceecececeeeeeececeeceecceeccecececececccececeecececeecceeccecece

subroutine cal_force_xyzh
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include ’common_gos2000’
call init_force

do 10 m=1,n_pa

call init_data(m)

call cal_xyzh

call forxce

enddo

return

end

subroutine init_force
include ’common_gos2000’
do 10 j=1,n_ou

do 10 i=1,n_in
force_g3(i,j)=0.0d0
enddo

do 20 j=1,n_in

do 20 i=1,n_in
force_g2(i,j)=0.0d0
force_gi(i,j)=0.0d0
enddo

cost=0.Cdo0

return

end

subroutine init_data(up)
include ’common_gos2000’

if(n_pa.lt.np)write(6,*) ’init_data:

if(n_pa.lt.np)stop
do 10 i=1,n_in
d(i)=do(i,np)

enddo

do 20 i=1,n_ou
eval(i)=evalO(i,np)
enddo

return

end

subroutine force

include ’common_qos2000°
do 10 i=1,n_ou
ff=(z_r(i)-eval (i) )*xhz (i)
ffi=ccz(i)

do 15 j=1,n_in

force_g3(j,i)=force_g3(j,1)+ff*y_r(j)+y_r(j)*ff1

enddo

enddo

write(6,*)’1 force:stop’
do 20 k=1,n_ou
ff=(z_r (k) -eval (k) )*hz (k)
do 22 j=1,n_in

ffj=x_r(j)

force_g2(i,j)=force_g2(i,j)+x_r(j)*ccy(i)

do 24 i=1,n_in

force_g2(i,j)=force_g2(i,j)+ff*hy(i)*ffj*gamma3(i,k)

enddo
enddo
enddo
write(6,*)’2 force:stop’

stop due to n_pa<np’



36
34
32
30

do 30 k=1,n_ou
ff=(z_r(k)-eval (k) )*hz (k)

write(6,*)’force: k, n_ou= ’,k,’/’,n_ou,’ (n_in=’,n_in,’)’
do 32 j=1,n_in
gg=d(j)

do 34 i=1,n_in

ffxd=hx(i) *gg
force_gl(i,j)=force_gl(i,j)+d(j)*ccx(i)
do 36 m=1,n_in
force_gi(i,j)=force_gl(i,j)+ff*gamma3(m,k)*hy(m)*ffxd*gamma?2 (m,1i)
enddo

enddo

enddo

enddo

return

end

subroutine read_data
include ’common_gos2000’

c 7% wEiidis.

c

c

[
C

10

15

20

30

gamma3(i,j) DEFIL gammal ,gamma?2 & EHIZLTH 5.
do 10 kp=1,n_in
read(10,*) m, (d0(kp,np) ,np=1,n_pa)
enddo
do 15 kp=1,n_ou )
read(10,*) m, (evalO(kp,np),np=1,n_pa)
enddo
do 20 i=1,n_in
do 20 j=1,n_in
gamma1 (j,1)=0.1d0
gamma2(j,i)=0.1d0
mm= (i+j) 2% ((i+j)/2)
xx=2.0d0*(float (mm)-0.5d0)
vgammal(j,1i)=0.1d0*xx
vgamma2(j,i)=-0.1d0*xx
gammal0(j,i)=gammal(j,i)-dt*vgammal (j,1)
gamma20(j,i)=gamma2(j,i)-dt*vgamma2 (j,1)
enddo
do 30 i=1,n_ou
do 30 j=1,n_in
gamma3 (j,1)=0.1d0
mm= (1+3) -2%((i+j)/2)
xx=2.,0d0%* (f1loat (mm)~0.5d0)
vgamma3(j,1)=0.1d0*xx
gamma30(j,i)=gamma3(j,i)-dt*vgamma3(j,i)
enddo
call sym_gamma
degrees=float(n_in*n_in+n_in*n_ou)
return
end

subroutine read_datal
include ’common_gos2000’

Ty #HAHBT.

gamma3(i,j) OEFIE gammal ,gamma? & IFHIZL TH S .
if(crit0.1t.0.999999d0)write(6,*) *stop because 0.9999<crit0’
if(crit0.1t.0.999999d0) stop
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zz=1.0d0/crit0-1.0d0

crit=-temp*log(zz)
degrees=float(n_in*n_in+n_in*n_ou)
write(6,*) ’crit= ’,crit

do 10 ki=1,n_in

do 10 kZ=1,n_pa

xx=float (k1+k2)*0.4d0
d0(k1,k2)=0.5d0*(cos (xx)+1.0d0)

enddo

do 15 ki=1,n_ou

do 15 kZ=1,n_pa

kxx=(k1+k2)* (k1+k2)

mm=kxx-2% (kxx/2)

evalO(kl,k2)=float (mm)

enddo

vv=0.0d0

do 20 i=1,n_in

do 20 j=1,n_in

mm= (i+7) **2

mm=mm—-2* (mm/2)

xx=2,0d0*(float (mm)-0.5d0)
gammal(j,1)=0.001d0*xx

gamma? (j,1i)=-0.001d0*xx
vgammal(j,1)=0.1d0*xx
vgamma?2(j,1)=-0.1d0*xx

vv=vv+vgammal (j,1)**2+vgamma2(j,1i)**2
gammal0(j,i)=gammai(j,i)~dt*vgammal (j,i)
gamma?20 (j,i)=gamma2(j,i)-dt*vgamma2(j,i)
enddo

do 30 i=1,n_ou

do 30 j=1,n_in

mm=(i+])**2

mm=mm~-2%* (mm/2)
xx=2.0d0* (float (mm)-0.5d0)
gamma3(j,1)=0.001d0*xx
vgamma3(j,1i)=0.1d0*xx
vv=vv+vgamma3(j,i)**2
gamma30(j,i)=gamma3(j,i)-dt*vgamma3(j,i)
enddo

vvcost=0.5d0*vy

call sym_gamma

return

end

subroutine init_velocity(icon)

include ’common_qos2000’

rate=sqrt (vrate)*sqrt(cost)/sqrt(vvcost)
icon=100

vv=0.0d0

do 1 j=1,n_in

do 1 i=1,n_in

vgammal (i, j)=rate*vgammal(i,j)

vgamma2 (i, j)=rate*vgamma2(i,j)
gammalO(i, j)=gammal(i, j)-dt*vgammal(i, j)
gamma20(i, j)=gamma2(i, j)~dt*vgamma2 (i, j)
vv=vv+vgammal (i, j)**2+vgamma2 (1, j) **2
enddo

do 2 j=1,n_ou

do 2 i=1,n_in

vgamma3 (i, j)=rate*vgamma3(i,j)

10



10

20

12

10

22

gamma30 (i, j)=gamma3 (i, j)-dt*vgamma3 (i, j)
vv=vyv+vgamma3 (i, j)**2

enddo

write(6,*) cost,0.5d0*vv,cost/(0.5d0*vv)
return

end

subroutine sym_gamma
include ’common_qos2000’
do 10 i=1,n_in

do 10 j=1,n_in
gammaip(i,j)=gammal (j,i)
gamma2p (i, j)=gamma2(j,1i)
enddo

do 20 i=1,n_ou

do 20 j=1,n_in
gamma3p (i, j)=gamma3(j,i)
enddo

return

end

subroutine cal_xyzh

include ’common_qos2000’
vvi=0.0d0

do 10 ki=1,n_in

xx=0.0d0

ccx(k1)=0.0d0

do 12 k2=1,n_in

xx=xx+gammalp (k2,k1)*d(k2)
enddo

x_1(k1)=xx

gg=abs (xx)

if(crit.lt.gg) vvli=vvi+alpha*(gg-crit)
if(crit.1t.xx) ccx(kl)= alpha
if (xx.1t.-crit) ccx(kil)=-alpha
xx=xx/temp

if (40.0d0.1t.xx)xx=40.0d0

if (xx.1t.-40.0d0)xx=-40.0d0
xx=exp (-xx)
f£=1.0d0/(1.0d0+xx)

x_r(kl)=£f

hx (k1) =ff*(1.0d0-ff) /temp
enddo ‘

do 20 ki=1,n_in

yy=0.0d0

ccy(k1)=0.0d0

do 22 k2=1,n_in
yy=yy+gamma2p (k2,k1) *x_r(k2)
enddo

y-1(k1l)=yy

geg=abs(yy)

if(crit.lt.gg) vvi=svvi+alpha*(gg~crit)
if(crit.1t.xx) ccy(kl)= alpha
if (xx.1lt.-crit) ccy(kl)=-alpha
xx=yy/temp
if£(40.0d0.1t.xx)xx=40.0d0
if(xx.1t.-40.0d0)xx=-40.0d0
xx=exp (-xx)
f£=1.0d40/(1.0d0+xx)

11
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32

30

40

10

20

y_rki)=ff
hy(k1)=ff*(1.0d0~-ff)/temp
enddo
do 30 ki=1,n_ou
zz=0.0d0
ccz(k1)=0.0d40
do 32 k2=1,n_in
zz=zz+gamma3 (k2,k1)*y_r(k2)
enddo
z_1(kl)=zz
gg=abs(zz) :
if(erit.1lt.gg) vvi=vvi+ alpha*(gg-crit)
if(crit.1lt.zz) ccz(kl)= alpha
if(zz.1lt.-crit) ccz(kl)=-alpha
xx=2zz/temp
if(40.0d0.1t.xx)xx=40.0d0
if (xx.1t.-40.0d0)xx=-40.0d0
xx=exp (-xx)
££f=1.0d40/(1.0d0+xx)
z_r(kl)=ff
hz(k1)=ff*(1.0d0~ff)/temp
enddo
vv=0.0d0
do 40 k=1,n_ou
ff=z_r(k)-eval(k)
vv=vv+if*ff
write(6,*) ’k,z_r(k),eval(k),d&k)= ’,k,z_r(k),eval(k),d(k)
enddo
cost=cost+0.5d0*vv+vvl
if (0.00001d0.1t.vvl)write(6,*) ’warnig vvi===’,vvl
if (0.00001d0.1t.vvl)stop
write(6,*)vv,cost,vvl
return
end

subroutine hokan_xyz

include ’common_qos2000°

data iccn/0/

save icon

if(icon.eq.0)call init_velocity(icon)

vv=0.0d0

do 10 j=1,n_in

do 10 i=1,n_in

gammal2 (i, j)=d20*gammai(i,j)-gammai0(i,j)-dt2*force_gi(i,j)
gamma22 (i, j)=d20*gamma2 (i, j) ~gamma20(i, j)~dt2*force_g2(i, j)
vgammal (i, j)=(gamma12(i, j)-gammal0(i, j))/dtt

vgamma2 (i, j)=(gamma22 (i, j)~gamma20(i,j))/dtt
vv=vv+vgammal (1, j) #*2+vgamma2 (i, j) **2

enddo

do 20 j=1,n_ou

do 20 i=1,n_in
gamma32(i,j)=d20*gamma3 (i, j)-gamma30 (i, j)-dt2*force_g3(i,j)
vgamma3 (i, j)=(gamma32(i, j)-gamma30(i, j))/dtt
vv=vv+vgamma3 (i, j) **2

enddo

vvcost=0.5d0*vv

do 30 j=1,n_in

do 30 i=1,n_in

gammal2(i,j)=dtt*vgammal (i, j)+gammalo (i, j)
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30

40

ccC

gamma?22 (i, j)=dtt*vgamma2 (i, J)+gamma20(1 3
gammalO (i, j)=gammal (i, j)
gamma?20 (i, j)=gamma2 (i, j)

gammal (i, j)=gammai2(i, j)

gamma?2 (i, j)=gamma22(i, j)

enddo

do 40 j=1,n_ou

do 40 i=1,n_in

gamma32 (i, j)=dtt*vgamma3(i, j) +gamma30 (i, j)
gamma30 (i, j)=gamma3 (i, j)

gamma3(i, j)=gamma32(i,j)

enddo

call sym_gamma

return

end

common_qgos2000 file skkkkdskkokskdokskokdokokkkk

implicit real*8 (a-h,o-z)

parameter (n_in=50,n_ou=10)

parameter (n_pa=2)

common /aal/gammal(n_in,n_in),force_gl(n_in,n_in)
common /aa2/gamma2(n_in,n_in),force_g2(n_in,n_in)
common /aa3/gamma3(n_in,n_ou),force_g3(n_ou,n_in)
common /aa4/d(n_in),d0(n_in,n_pa)

common /aab/eval(n_ou),evalO(n_ou,n_pa)

common /aa6/gammalp(n_in,n_in)

common /aa7/gamma2p(n_in,n_in)

common /aa8/gamma3p(n_ou,n_in)

common /bbi/x_1(n_in),x_r(n_in) ,hx(n_in)

common /bb2/y_1(n_in),y_r(n_in) ,hy(n_in)

common /bb3/z_1l(n_ou),z_r(n_ou) ,hz(n_ou)

common /bb4/ccx(n_in),ccy(n_in) ,ccz(n_ou)

common /xyzi/gammal2(n_in,n_in),gammaiO0(n_in,n_in)
common /xyz2/gamma22(n_in,n_in) ,gamma20(n_in,n_in)
common /xyz3/gamma32(n_in,n_ou) ,gamma30(n_in,n_ou)
common /para0/dt,dt2,dtt,temp,crit0,crit,alpha,vvcost,cost
common /paral/iiimax,degrees,vrate,xlambda

common /xyz4/vgammal(n_in,n_in),vgamma2(n_in,n_in)
common /xyz5/vgamma3(n_in,n_ou)

data d20/2.0d0/

13
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1000
10

7. F—yOEBROTOSS L 52

dimension a(40),b(40)
open(10,file=’ftn05’ ,status=’0ld’)
read(10,*) nmax

do 10 i=1,nmax
read(10,*) (a(k) ,k=1,35)
if(i.eq.1)aa=a(3)
b(1)=24.0*(a(3)~aa)+a(4)+a(5)/60.0
m=1

do 20 k1=7,34

m=m+1

b(m)=a(kl)

enddo

write(6,*) m

stop

write(€,1000)i, (b(k) ,k=1,m)

format (1h ,i4,24f15.4)

enddo

stop

end
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8. F—HOEROTTY T A: %3

dimension a(40),b(40)
open(1C,file="ftn05’ ,,status=’0ld’)
read(10,*) nmax
do 10 i=1,nmax
read(10,*) (a(k) ,k=1,35)
if(i.eq.1)aa=a(3)
b(1)=24.0*(a(3)-aa)+a(4)+a(5)/60.0
m=1
do 20 k1=7,34
m=m+1
b(m)=a(kl)

20 enddo-
write(6,*%) m
stop
write(€,1000) i, (b(k) ,k=1,m)

1000 format(ih ,i4,24f15.4)

10 enddo
stop
end
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